MA1272 Statistics, CityTech, Mr. Reitz


Day 10
Vocabulary





Formulas

	· Hypothesis test
· Null hypothesis
· Alternative hypothesis
· Rejection region / nonrejection region

· Critical point

· Significance level

· Power of the test

· Tails of a test (two-tailed, left-tailed, right-tailed)
	· 
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	EXAMPLE 1

A soft-drink company claims that, on average, its cans contain 12 ounces of soda.


	EXAMPLE 2
A person is being tried for a crime.  Based on the available evidence, the jury will either decide:

a. The person is guilty

b. The person is not guilty


	EXAMPLE 3
According to a Kaiser Family Foundation survey conducted in 2005, 8- to 10-year-old children spent 250 minutes (i.e., 4 hours, 10 minutes) watching television per day (USA TODAY, July 12, 2005). A child psychologist wants to check whether or not this mean has changed since 2005.  Determine 
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.  What kind of test is this?


	EXAMPLE 4

A soft-drink company claims that, on average, its cans contain 12 ounces or more of soda.  The standard deviation for all cans of soda is known to be 0.5oz.  A random sample of 100 can of soda had a mean of 11.89oz.  Test at a 5% significance level whether we can reject the company’s claim based on our sample.


	EXAMPLE 5
The TIV Telephone Company provides long-distance telephone service in an area. According to the company's records, the average length of all long-distance calls placed through this company in 2004 was 12.44 minutes. The company's management wanted to check if the mean length of the current long-distance calls is different from 12.44 minutes. A sample of 150 such calls placed through this company produced a mean length of 13.71 minutes. The standard deviation of all such calls is 2.65 minutes. Using the 2% significance level, can you conclude that the mean length of all current long-distance calls is different from 12.44 minutes?


	EXAMPLE 6
The mayor of a large city claims that the average net worth of families living in this city is at least $300,000. A random sample of 25 families selected from this city produced a mean net worth of $288,000. Assume that the net worths of all families in this city have a normal distribution with the population standard deviation of $80,000. Using the 2.5% significance level, can you conclude that the mayor's claim is false?
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